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Whenf constructing a 95% confidence interval for proportions, what would be ﬂwe; ap ’?ﬂvﬂ' maie margin
Qf error for a sample size of smokers and non smokers if 200 are polled and 18 smoked? L:ﬂr_ ST
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3. By Increasing the sample size:. the margin of error becomes “vell e (larger/smaller) ani‘ thél ngth o
the confidence interval Xy vennuS (widens/narmows). |

b .
For #4 - 8: A doctor noticed that many female patients were Vitamin D deficient. She would like to de ermine
> what proportion of her patients are deficient. She chooses a random sample of 45 medical files of femc ‘;g
patients and finds that 37 of these patients are Vitamin D deficient. .~ /s = _0.82 '
4, What is the margin of error for a 95% confidence interval? O o) e
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5. Construct the 95% confidence interval. O ’°_
. 6. Make a 95% confidence statement about the percent of the doctor's female patients are Vitam 'ﬁ'@

N deficient.
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- 7. The doctor is unhappy with the confidence interval. It is so wide that she does not feeluﬁ at she t
L go@d estimate of the proportion of patients with Vitamin D deficiency. What could she rm; to

the miaervaI? .
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11. As the day of the election drew closer, the polling company increased the sample size. For the-u D0 lwﬁ_ “
company, this increase means more money. George knows little statistics. Explain to him why increasing
the sample size is important to him. -
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Normal Distribution Review:

12. Given an average mean of 512, with a standard deviation of 2.5. Draw a normal curve and find the z
scores of 492, 550, and 511. - . wa1 A2
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13 en an average mean of 24,
scores of 20, 23.7, and 26.

ith a standard deviation of .3, draw a normal ¢




